chain-consistent!34°

chain-consistent( f;chain)
=4et (Ve:E(Sys). no_repeats(Id;chain(e)) & (0 < ||chain(e)||) & (loc(e) € chain(e)))
& (Ve, e":E(Sys). chain(e) C chain(e’) V chain(e’) C chain(e))
& (Ve:E(Sys).
((c & In))
= (loc(e) = if isupdate(In(e)) then hd((chain(e))) else last(chain(e)) fi ))
& (~(1(e & In)))
= (~(l0c(f(e)) = Toc(e)))
= (adjacent(Id;chain(e);loc(f(e));loc(e))
& adjacent(Id;chain(f(e));loc(f(e));loc(e))))
& ((=(1(e € In)))
= (loc(f(e)) = loc(e))
= (Va:E(Sys). (a <loc ) = a <loc f(e) ))
& ((1(e €, Out)) = (loc(e) = last(chain(e)))))
& (Ve, e":E(Sys). (e <loc e’') = chain(e’) C chain(e))

clarification:

chain-consistent(es;Sys;In;isupdate; Out; f;chain)
=q4ot (Ve:es-E-interface(es;Sys).
no_repeats(Id;chain(e)) & (0 < ||chain(e)||) & (es-loc(es; e) € chain(e) € 1d))
& (Ve:es-E-interface(es;Sys), e’:es-E-interface(es;Sys).
sublist(Id; (chain(e)); (chain(e"))) V sublist(Id; (chain(e’)); (chain(e))))
& (Ve:es-E-interface(es;Sys).
(T(e & In))
= (es-loc(es; €)
if isupdate(In(e)) then hd((chain(e))) else last(chain(e)) fi
€ 1d))
& ((~(1(e & )
= (—(es-loc(es; (f(e))) = es-loc(es; e) €
= (adjacent(Id;chain(e);es-loc(es; (f(e)));es-loc(es; €))
& adjacent(Id;chain(f(e));es-loc(es; (f(e)));es-loc(es; €))))
& ((~(1(e & )
= (es-loc(es; (f(e))) = es-loc(es; e) € 1d)
= (Va:es-E-interface(es;Sys). es-locl(es; a; e) = es-le(es;a;f(e))))
& ((1(e € Out)) = (es-loc(es; e) = last(chain(e)) € 1d)))
& (Ve:es-E-interface(es;Sys), e’:es-E-interface(es;Sys).
es-locl(es; e; ') = sublist(Id; (chain(e’)); (chain(e))))

d))
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